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Please answer the following questions:

(a) List and explain the types of foreign exchange risk exposure. (10 points)
(b) What is foreign exchange market efficiency? (15 points)

¥ -4
RPN o= A & % e BE(M&A, Mergers and Acquisitions) ¥ i — & w2 ek 7 %7
GEEMAIERIFT L AFL 0 FFF EBO L B
LG A E K DE e o WAy

AT BERE ST z’v’ﬂ}i?%{

"F FF ’L+

() AE2F AP Y 4o BH 2 5 Aot s 2 [8 4]
(Z ) AE 2T BUEF 4P RE 2 5 PR 4o h%s 2 [8 4]
(Z) 229 AE PG oR b ' 257 B R P H S e i B[94 ]

R
W OE T IR
(-)AB C D uw Bt bropriifh TR <LF27 wr22nj- 243
Frrlaegpriakmif=- Bt -A-B-C-D EifHAp T amRRA: 1
Lods N2 48~ 5 ke~ 8 A4 e LIEA%’K@%%%'%&?@E%F?{}?‘/}%_?@
fﬁﬁ}—?éfﬁ? (Bdifen 4 8s)[12 2]
(=) %1+3 20 wﬁ"'*’ﬁﬂ’ﬁ 10 BE®ipt ~10BF G gf b oo inenpeppl 3 b 2§
L3 T R AR F G o Rargt 10 B oG 5 S e
10 B & &ihhﬁ@%éjgfoﬁﬁ%ﬁﬂPWﬁ@H%ﬁ@ugﬁﬁﬁ’;ﬁﬁﬂﬁw
BB Ad o A3 I0B > P AD G5 i P BREREARR 2 [13 4]
¥R
G E T AR A
(=) FBEFEESF Sk T REERE o i F R Fenbl B g 2 and a5
Be g - mq4R - 284 -5 ’i{'{fm\ A AM e 2 f A2

R334 a3 T NS R a3

HE RS (B8R HT

RS RE s LN YR S

s e o e R A T B P A gk ko

WA hif e ) [T 4]
(Z)Fwizsd 2458451000 2 ¢ Fia " Fork 1 B F-%F T k]
B FFEFZ L HEEAEES- L REE (AR BB LL | E
BeoFBle otz B Pdtx o [94])

S B R kR e o WM TR A EGRehT e
:rliB’ﬂiD’X{E"J
A28 C:»*EE-
2 E E> 3 EFo
2EC> 2 AFo
28 C>72ED> % EF- |
T2 8 A28 Cr»2ED- |
AT PP F PG A - AEE Hear BREIE T Rk

R - o R A (2 R A R o [9 4 )



